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18 1928 Bk Hih #F-2 10.58.18
19 1950 #k/® #hHth KK-3 11.02.83
20 3519 1% XHR KK-2 11.10.01
21 2029 fREF A FHIE-2 11.15.35
22 8018/" @Ex2 H¥F-2 11.23.14
23 3999 AR K #F-2 11.28.74
24 2297 1% @@ &WuhER-3 11.33.77
25 3409 H#M —iE B&WuhER-2 12.04.22
26 4000 ;E/K {EAXBA #F-2 12.52.46



B _110mH EEiER i,

Bl ion-—| & 71l |E-ZF&F| &k &
1 1985 K 18K [FHIZ-3 17.12]-2.3
2| 3204|k2% FBHE [FkRB-3 18.08[-2.3
3] 2105/ Mk BBEE |B8F-2 18.69(-2.3
4  2070|FHk E# [BF-3 18.94|-2.3
5| 1988|i{REBAEE [FHIF-3 20.00[-2.3
6] 3469|Z2H EN |HBE-2 20.21[-2.3
7] 2141(h0Ek REARER |BhyiE-2 20.96]/-2.3




e 5F Em Bk R IER
B Fon'- % w1l FE-FE &

1 2080 5H EX HBHF-3 1m60
2 1952 JEH H#&H KK-3 1m50
3 2141 hngkE BEARER 82 1m45
3 3201 MAE Eth FEBE-3 1m45
5 1924 L EX MFE-2 1m45
6 2143 A HE sHuiH-2 1m45
7 2145 Efk SBaF  ByiE-2 1m40
8 2212 /NI Bt BlfE-2 1m35



BF #abk PR
IEHL Fon— G=X:1] A& EC 8k

1 3203 5% #KX FKB-3 3m 60
2 3196 kK& = HKE-3 3m 20
3 2073 /MR K BF-3 2m 70
4 3191 thx = FKE-3 2 m 60



BF  EEk Wik g
BWEe v ame fon—| & @i E-2E ik | A
A 1 3178|&:R F#H  |FKE 2 4m>50[+0.8
8l A 2|  1847(qh)Il EAE (ABE-3 5m23[+0.7
Al 3 77320 FE |EE-2 5m03[+0.8
Al 4] 2072))II18 &KX [BF-3 5m12]+0.6
Al 5 10| R B |EE-3 4m95]0
Al 6] 2076]2%H 1§ BH¥-3 4m98[+0.3
S Al 7] 2215|xH BEFE |AlfE-2 5m43[+0.7
Al 8] 3195|884 EA [FHE-3 4m73[+0.4
AAA| 9] 2181|#5K #Hth  |AIfE-3 5m48[-0.7
31 A| 10| 207084 =% |BF-3 5m50]0
Al 11] 2176[FH %0 |&IfE-3 5m17][+1.0
6l A| 12| 2133|&HE EAN  |EyiHE-S 5m40]+0.9
1A 13] 4666[5 K E%E Hiozl$A-1 5m63[+0.7
Al 14l 2129]4 EX Fyid-3 DNS
2l A[ 15]  1491|EEE it [1Ex-2 5m55[+0.7
WA 16] 1990(#2KEEXER |FHei%-3 5m26]+0.6
B| 1] s4l4|=k BX [@&Ide 2 3m71]+0.8
B| 2| 2031[&H H#t |FRIZ-2 4m32]+0.5
B[ 3| 2214 ke [BIfE-2 3m88[+0.4
Bl 4] 2213|ikgEx =X [BlfE-2 4m?24[+0.4
B[ 5] 2050/kKA& HFT [FRIZ-2 4m09[+0.9
Bl 6 2211;E& —i8 [BIfE-2 3m77/+0.6
B[ 7] 2915|FH FE [#RFE-2 3m85[+1.0
B| 8] 2180|i%i® Bt [Al{E-3 4m10[+1.1
B[ 9o 2139/lLE &t [HWyiE-2 4m91[+0.3
B[ 10] 1846|%%E J%# [AB-3 4m20[+0.6
B[ 11 2144|5F D |Hwim-2 4m55[+0.6
B[ 12 3412|xH B [BlPEE-2 4m01[+0.5
B| 13| 1882(ZH B |#F-3 4m44[+1.0
Bl 14| 3692|EX BEE [AF-2 4m44]+0.7
B| 15| 3416|NHE K¥ |[&UPER-2 DNS
B | 16] 2027(#f#MA &k |FHRIZ-2 4m90[+0.5




BF ik PAER
JBRE Fon— Z2X:0] g sCE%
1 754 =K = EEZ-3 11m76
2 3197 #ifm &KX 7<E-3 11 m 26
3 3199 gElR &Har FRE-3 10 m 56
4 111 &b &= HHE-3 9m 35
5 2078 E&ER SR H¥F-3 8 m 87
6 2069 B%E8 Bl BF-3 8 m 48
7 2209 giJIl Z=RIE AIfE-3 8 m 29
8 3172 HFIl B4 FEH-2 7m 70
9 2889 it B5FE  HFRFE-3 7 m 50
10 3696 ERY =ik HF-2 7 m 46
11 369315y BKXK HBHF-2 6 m 52
12 3177 #E —8 FKB-2 6 m 31
13 2140 B H|AE HHYiHE2 6m17
14 161 FH thth HHE-2 5m 89
15 2137 #F —& FHyiE-2 5m 83
16 2136 ¥&fd BAK Hyid-2 4 m 61
17 1930 %%y HE #®F-2 4m 39
18 2127 Rz = T2 2 m 83



BF M PAER
IBL Fon'— CX:D] & SCER
1 111 &ofg &= HE-3 27 m 84
2 3199 BRIR B KBS 27 m 31
3 2069 HER HI BF-3 24 m 87
4 754 =K = EE-3 24 m 79
5 3201 A% Eth KBS 24 m 77
6 369315l BX HF-2 19 m 79
7 2889 it BEFE HAFREE-3 18 m 96
8 3189 IUT #M#E FKH-2 15 m 61
9 3696 EBB§ =K HB¥F-2 15 m 59



BF VeaUyhrn-

PR

HEIE FUN - il BilE: ECE%
11955 W1l &  KK-3 36 m 87
2 35 EE BER FKE-2 33m 35
3 2078 MWAER R H¥-3 32 m 88
4 2587 kH —fE&E Z=FKXME-3 31m71
5 2891 BaH I&F  #FREE-3 30 m 46
6 3189 IUT #M#E FKFE-2 25 m 90



